Loss of practice revenue example in a 100% bulk billing practice without
changing business model or charging co payment when 50% of patients don’t

have HCC or other exemption DVA <16 etc.

Five Full Time Equilavent GPs
Each seeing 7500 consultations per year

Effect of $5 rebate reduction

50% of patients have HCC or other exception 0 0

50% that don’t and don’t pay $5 18750 18750
Total $5rebate reduction loss 18750 18750
Total Effect of Non indexation per GP 6821 13778
Total Reduction per GP in gross billings pa 25571 32528

Adding rebate reduction and non indexation
Total reduction in retained billings pa for each  15342.60 19516
GP

Reduction is practice service fee per GP pa 10228.40 13011.10
Total Practice service fee reduction pa for 5 $51141.50 $65055.70
GP’s
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So a progressive pay cut and service fee reduction . This is in the context is 1-3%

increases in the costs of living and costs of running a practice.
A double whammy

This spells business disaster ( to any business)



